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Given below in the left column are different

modes of communication using the kinds

of waves given in the right column.

A.  Optical Fibre P. Ultrasound

Communication
B. Radar Q. Infrared
Light
C. Sonar K. Microwaves
D. Mobile S. Radio Waves
Phones

From the options given below, find the

most appropriate match between entries in
the left and the right column.

Options:

] A-Q B-5C-RD-P

5 A-Q B-5C-P,D-R

z A-5B-QC-RD-FP

i A-R, B-P,C-5D-0Q
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, A-QB-5C-RD-P

, A-QB-S,C-P,D-R
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z A-5B-QC-RD-P

i A-R,B-P,C-5D-0Q
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] A-Q B-5C-RD-P

5 A-QB-5C-P,D-R

z A-5B-QC-RD-FP

i A-R, B-P,C-5D-Q
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In an experiment, the resistance of a
material is plotted as a function of
temperature (in some range). As shown in
the figure, it is a straight line.

A
INR(T)| ™

| 1/T2
One may conclude that :

Options:

R(T)=—3

Ry
2
1. 3

' _T2 /7.2
, R(D)=Rpe " /T

e 5
. R(D)=Rge 0/

. R(D=Rge' /T
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T2/T,2
. R(D=Rge' /T
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A particle of mass m is moving along a

trajectory given by
xr=1xp+a coswt
¥=1y+ b sinw,t
The torque, acting on the particle about
the origin, at t=01s:
Options:

- Pt
Fmygam; k

M,

"
m({—xab+yaa)w, k
> 09T Yoa oy
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2 - Jghi
m{xpbew, Ypaw, 1k
3 N

4 Zero
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Z=IHH m % U fqve =1 9y fr= 2
x=2x,+a coswyt
Y=y, +b sinw,t
t=0 R, gertag & 9y v . @ am@
Options:

- Pt
Frypam, k
1 ety

i,

5
m{—xpb+ yqa)w, k
5 0D T Ypa)m,

2 - Sk
m(xpbw, — ypaw, 1k
3. N

5 T
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2i5 m EUL URLeL 591 A2 gl Yoreirl 2lldu

Guz ald 53 .

X =xy+a coswyl

=1y + b sinw,t

Goruleig 2434, t=0 ¥4, 581 Gur diid 215

8.

Options:

- Pt
Fmygam; k

i,

5
m{—xpb+ yqa)w, k
5 0D T Ypa)m,
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2 - Jghi
m{xpbew, Ypaw, 1k
3 N

5 WH
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A ball is thrown upward with an initial
velocity V, from the surface of the earth,
The motion of the ball is affected by a drag
force equal to myo” (where m is mass of
the ball, v is its instantaneous velocity and
v isa constant). Time taken by the ball to
rise to its zenith is :

Options:

S
: lan I[ ﬂ‘v'ﬂJ
2vg, B

1.
—111(1-1- b M
- Y& V:’:; J
i b
|
Ttﬂn * 1 Il'w'ﬂ
5 N8
5 Y§ J
. : \
el {\/EHDJ
i VY8 &
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yeelldl el yzell 215 g Vi, sreal Wizt
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Two particles, of masses M and 2M,
moving, as shown, with speeds of 10 m/s
and 5 m/ s, collide elastically at the origin.
After the collision, they move along the
indicated directions with speeds v and v,,
respectively. The values of v, and v, are

nearly :

________________

M * M
Options:

3 6.5m/sand3.2m/s

5 32m/sand 126 m/s

z 6.5m/sand 6.3 m/s

¥ 32m/sand 6.3 m/s
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59 M 9 2M & &1 %0 7 10 m/s a9
5m/s, A9, | FEEFAER Fad g4 99 695
T YeATE HHE % 2| HOG %+ &6 A
Uy ﬂﬂTIJzﬁ‘ﬁ ifq ¥ femare 4 feensdi § 974
%lt?lﬂmzﬂzﬁﬁmﬁmﬁﬁ:

M 2 M

H“Q{D l'l'lf.‘i Jf}y’!.fﬂ
30°T, T30

45 W45°

'LR
M M
Options:

6.5m/s M 32m/s

1.
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5 32m/s A 126 m/s

5 65m/s W63 m/s

¥ 32m/s T 6.3 m/s
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M 24 2 M 50 d21eel oL gl 2ug i saie
Yoret 10m/s 247 5 m/ s AL Bl aild s31-
szdl, Guuldg 2w Rulararys wHeaid
(2EUHEL) 2HEA . HASHEL HE, o Hld
wegsd v @ o, vl glad (Bl ol 5
5. v 2 v, + 4 (~l %05+
23l

Options:

, 65m/s i 3.2 m/s

5 32m/s ¥4 126m/s

3 6.5m/s i 6.3 m,'s

4 32m/s w4 6.3 m/s
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Two coaxial discs, having moments of

—
—_—

inertia II and , are rotating with

b |

[i4]
respective angular velocities w, and T]
about their common axis. They are brought
in contact with each other and thereafter
they rotate with a common angular
velocity. IfEfarld Efare the final and initial

total energie-s, then (E,—E,) is:

Opf[ions:
2
II LLJI
1 12
I mi’
24
Z.
2
FI-
z 6
3 2
8
4,
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Options:

E I]‘-LL'II.I_I
4 8
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A thin disc of mass M and radius R has
mass per unit area o(r)= kr® where r is the
distance from its centre. I[ts moment of
inertia about an axis going through its
centre of mass and perpendicular to ils
plane is :

Options:
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1 o
YMR2
> 3
MR2
= 2
MRZ
i 3
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Z=EE M a1 5= R 1 UF Taelt f2i=
9id ST AAF 59HA ur(r}=kr‘2%ﬁ%?r
F= Ui 2 feF F F= 4 99 96 99
SHF o ad 2181 3 Ufta: W ST 80 ;

Options:
MR 2
1 (5]
IMR2
5> 3
MR2
3 2
MR?2
4 3
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1 (5]
>MR2
> 3
MR2
= 2
MR2
i 3
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The value of acceleration due to gravity at
Earth’s surface is 9.8 ms 2 . The altitude
above its surface at which the acceleration
due to gravity decreases to 4.9 ms 2 is
close to : (Radius of earth = 6.4 x 10° m)

Options:
, 26x10°m

% 6.4x10°m

: 6
5 LoX10"m

i 9.0%10° m
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et Tl G T2 o4 00 1 HH 9.8 ms 2
€| et FT TaE W 98 T, Tl [eetd @i
T2 4.9 ms 2 & W & 2O (et H
= =6.4%106m)

Options:
| 26X 10°m
6.4 %105 m
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- 6
= 1.6x10° m

i 9.0 10° m
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Yol ¥uZl Gy oeeludol] 3 9.8 ms 2
wir el Bsal 64 x10°m 8. d-dl 2wlel
Gl & sl et yeu
4zl 4.9 ms 2 «gl.
Options:
1 2.6x10°m

% 6.4 %108 m

: 6
= 1.6x10" m

i 9.0 10° m
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Theratio of surface tensions of mercury and
water is given to be 7.5 while the ratio of
their densities is 13.6. Their contact angles,
with glass, are close to 135° and 0°,
respectively. It is observed that mercury
gets depressed by an amount /1 in a capillary
tube of radius r;, while water rises by the
same amounth in a capillary tube of radius
r,. The ratio, (ry/r,), is then close to :
Options:

1 2/5
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TRT AGT I 5 Y A 6 S 7.5 8 e
I e 1 S 13.6 B | 376 19 6 H1Y
T 9] = TS HH, S, 135° a410° €
TE T S 2 R O U B, F wfee
it H 418 h T AGd eIl ¢ S wH B
r, T ST il H SHT 918 h | 39 S ¢
AT rlfr?_mﬁzﬁaqﬁéﬁn:

Options:
1 2/5

5 4/5

g 2/3

i 3o
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YRl 2 Wil 12 yBalell-l 2jRlicz 7.5 § sl
el rtelirll 2jelei? 13.6 5. Al 512 WL
HuS 5101 254 135° 24 0° oAl Al &, 249
sdsll MO 8 5 W3l vy Bleet druiadl sl i
o2l Al (B Gew 8) el sz well v,
Biscdt auiadl sa-ellsl b sred Gy 28 o,
ez, (ry/r,), 4 4ed Al A5
sl

Options:

., 2/5

5 4/5

4 2/3

i 3o
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n moles of an ideal gas with constant
volume heat capacity Cy, undergo an
isobaric expansion by certain volume. The
ratio of the work done in the process, to the

heat supplied is :

Options:
4nR
1 'f:'l,r.r nk
nRk
Cy —nR
2. C R
_4nR
C\r.r | ﬂR
_BR
i 'C\,-' FnR
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T A S s i C, # e 1
F n T 1 THEE FER fHET SAEaa 9 2
T wfer § R4 T W w1 S e d
HIIE B

Options:

C\r.r f ﬂR

nRk

4 {:1.,.' FnR
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n 4l 24 C,, svzel 24201 5% Glaeulzel el
wigel Ay disi 58 Al wusedl warel wied
9. L UMl =l s 2 2 (2audl)
Gl 2pelivz 23,

Options:

. Cy+mR

nRk

, CvinR
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A 25%103 m® volume cylinder is filled
with 1 mol of O, gas at room temperature
(300 K). The molecular diameter of O,, and
its root mean square speed, are found to
be 0.3 nm and 200 m/s, respectively. What
is the average collision rate (per second) for

an O, molecule ?

Options:

1 ~1012
o, ~10M
5 ~10%
g
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TH 25x 1073 m® AETH & faei= § 1 mol
O, T4 FaF TEE (300 K) W 21 0, F
SAITUEE = A4 F9 714 JE 97 & JH HE:
0.3 nm 91 200 m/s 9 T € | Taelt O, 31
% 99 o1 F 9 (Wid IFUe) T Erm ?

Options:

1 ~1012
o, ~10M
5 ~10%
g
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25 25 10 2 m? AUl AVUSIR URSIAL MM
(300 K) 1 mol O, cuyll ozl ©. O, eyl
Ay i HRULL 26U | 4 2454 0.3 nm 2
200 m/s sr2d Al 9. 519 2lssH O, 249
YAl U320 2L (WA Hs-s) g2 s2dl ¢31)

Options:

. ~10%2
o ~101
5 ~101
4, ~100
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The displacement of a damped harmonic
oscillator is given by
x(t)=e U1t cos(10wt + ¢). Here t is in
seconds.
The time taken for its amplitude of
vibration to drop to half of its initial value )
@collegedumas
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Options:

s
1.

> 27 s

3 /8

13s
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U FaHiEd el S w5 T e
x(t)=e~ 01 cos(10mt +¢). TeTt TFISH T
S < ST T ST SR T § S
M H & T F qfAwe 91 20
Options:

4s
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i £lds 22iar AR Yool 2l as
&
x(t) =e~ 01t cos(10mt +¢). 21l t As—oui 8.
Al Sulsiacld Yo adl Wy yeu 53 2,
iH ol M2 ARIdl WHY Al A5l
il

Options:

45
1.

5 27 s

o 7s )
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A stationary source emits sound waves of
frequency 500 Hz. Two observers moving
along a line passing through the source
detect sound to be of [requencies
480 Hzand 530 Hz. Their respective speeds

are, inms "~}

(Given speed of sound =300 m/s)

Options:

2
. 12 18

16, 14
2.

5 8,18

o e
i 12,16
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TF TR #6500 Hz #™fa 9§ = sofem
FIAT €| <1 4T U & T, o T 6§ 2
ST €, H Ford & ol 3% LAt &1 2Aghd 480 Hz
#R 530 Hz G Sl &1 57 Fmnsdi & =

e

FHI: ms 1 H 20 ;
(fez & : =af1 <t =9/t =300 m/s)

Options:

;. 12,18

16, 14
2.

5 8,18

5 1z
4 12,16
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25 Glgary 500 Hz -l wglds 2ugf gzl
collr Goud 52 89, of 2edls-siRL B sdsdl
245 of Yol AU 5% © 24 480 Hz 244 530 Hz
21l dusdl el A B, 2iedlssRHL s
ald 23l

(e[l 254 300ms 1 8)

Options:

2
i 12,18

16, 14
z.

5 8,18

o e
4 12,16
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Figure shows charge (q) versus voltage (V)
graph for series and parallel combination

of two given capacitors. The capacitances

are :
th—-C} A .j\
2001---- : '.*i' B
80 {41
10V V (Volt)
Options:

: 50 wF and 30 puF

20 wF and 30 uF
40 wF and 10 wF

60 wF and 40 pF
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No Option Orientation : Vertical collegedunia:

Correct Marks: 4 Wrong Marks: 1 <



=1 o8 T HenfEi 1 gl 9 SR wE |
TR T 3AH A (q) 71 =ee (V) & =i
1 Has T T H 9 T g | 5T e
%Wﬂﬂiﬁ

q(nC)t i

500} -1’

80 {- ,___,, et

10V V (Vo)

Options:
;90 pF @ 30 uF

o 20 uF T 30 pF

;40 uF T 10 uF

4 60 wF 9491 40 puF
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gl Bl i Uizl sabal 2l el
(Heuzsl) 4 (q) B3g (V) AL =usvil suld o,
detrsiHl Heauzsal (3Udle)

q(rO? i
i S
80 ’”"

10V V (Volt)
Options:
, 50 pF 24 30 pF

, 20 pF 244 30 uF

- 40 pF 2410 pF
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. 60 wF =44 40 pF
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A cylinder with fixed capacity of 67.2 lit
contains helium gas atSTP. The amount of
heat needed to raise the temperature of the
gas by 20°C is: [Given that R =8.31 ] mol ~ !
K=

Options:

1 7007

, 748]
374 ]

4 298]
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U 99 A= 67.2 1. % foeist § AeE
ATHA TS =4 (STP) W Eifeas 19 94 2
9 = 99EE 20°C 4 92 & fou smEwas
o1 B

[fear®: R=831Tmol"1K~1]

Options:

. 700]

, 748]

374]

i 4]
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2ig 67.2 lit sred =lu0 58 LRIl Avuseal
STP 2 dlellyv sy 6Rell . 20°C /26 did™i-A
qeAL Hi2 sl Gl sv2el &
[R=8.31]mol 1K~ ! 2yid £.]

Options:

. 700]

, 748]

374 ]

i 350]

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

A uniformly charged ring of radius 3a and
total charge q is placed in xy-plane centred
at origin. A point charge q is moving,
towards the ring along the z-axis and has
speed v at z=4a. The minimum value of v

such that it crosses the origin is :

Options:
1/2
21 ¢
, 'Ym 15 4rega
' 1/2
YN, -
5 Vm | 15 41rega

1/2
i[i q
m | 15 4mepa

b
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FA HAEW q TG = 3a T TF THEAA
AT FeTd xy-THTA 5 Heliag T Hi=d Wl
21 TF fag @aw q 39 qOg F TWE
A WAA R SHH z=4a WA 0 |
g Fl IR FA F @0 ¢ = FFaH AH

2
Op.tions:

1/2
21 ¢
, 'Ym 15 47repa

' 1/2
/i[ 4 g
" m | 15 4mepa
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25U Ald [AYaEld w4 3a svedl Bseu
el o1 WAl e Bydeus q & s Goniles
DAL xy-HAUALHL Yol 2ud &, @is g
(Bconz q 24 <01 dzs z 2ial Bl o 254ell
z=4a 4l Al 52 8. [Cgadt [Ggasrd P
2ALUIIHAL (513 524L) @A 2ALML 2L o733l

-

i .

Options:

1/2
Z]1 &
m | 15 4mega
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Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

In the given circuit, an ideal voltmeter
connected across the 10 () resistance reads

2 V. The internal resistance r, of each cell

15 :

LT
(AR

10 O

[ 1]
|1
1.5V.15V
r{} r £l

Options:

l.lﬂ

5 L3O

0.50
g

4, 04
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o3 7 ufiyy 5, v ey SeeHE F T49

10 € gy = fodi 92 = 8 | 92 2 V AT

2| U He F AE 9y ¢ 20
15 Q)

L 2 €}
SVAYAYS

—Hpp—
10 ()
1|1

TSV 15N

r ) r{}
Options:
10

1

5 L5Q)

0.50
)

4, 04
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i wbvaal, 2y 2ugel dleedler & o
10 € Al 2R 18 HHIdR sdid 89 d 2 V 2ddls
Al s, £35 [Hysid (cell) Al 2iidlks »ieRia

15 Q
WA 2 n
B
10 Q)

||||
ik
15V,15V
r{d 1}

Options:
110}

1

5 L5Q)

0.50
g
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Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A current of 5 A passes through a copper

conductor (resistivity=1.7x 10 % Q0m) of
radius of cross-section 5 mm. Find the
mobility of the charges if their drift velocity
is .1x 103 m/s.

Options:
1.5m?/Vs

5 1.8m~/Vs

5 L0m?/Vs

4 13m?*/Vs

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
STE T2 1 1 5 mm =17 w19 ( Ifearerea
=17%x10"% Qm) & UF =i 4 5 A =l
YR golfed el €1 Afg a9 1 S{9arE 9
1.1x 103 m/s & Tl ST Tiaeiieran n :
Options:

1.5m?/Vs

5 1.8m~/Vs

5 LO0m?/Vs

4 13m?*/Vs
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5 mm [Asdl gddl 5148 dles
(ERisdl=1.7x 10 % Qm) izl 5 A e
YR A B, od d¥ell g2 111 %1073 m/s
€1l Bggaoril welldldl 2l

Options:
3 1.5m?/Vs

9
5 1.8m~/Vs

5 L0m?/Vs

4 13m?*/Vs

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A proton, an electron, and a Helium
nucleus, have the same energy. They are
in circular orbits in a plane due to magnetic
field perpendicular to the plane. Let T T
and ry;, be their respective radii, then,

Options:

1 Te < rp{ T'He

5 TE}TF}IHE

3 iy ri__r=1r1_|E

o= THe

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
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=il HolTd TR E | F U e H S o,

TEFRE GF F HE0 FAHR w1 F A9

& A, 1, 3Wry,, T, T e dfemw

e F gaTHR 99 F B 2, i

Options:
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re}rp}IHe

2.
3 . ri__r=1r1_|E
4 PR I =THe
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Wit God gaiedl #is Mleid, 215 92l i
25 GBI 2uaA deisld Bl Eid A O,
sl Ml2lA, BEs2iA 2 €gler 2L sk

Wl Bt £, r, ot ryy Sl

Options:

1 e < Ip{ I'He

5 rE}rF}IHE

5 Te™ Ip=Ty,

Te< T, =The

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Two wires A & B are carrying currents
[, & 1, as shown in the figure. The
separation between them is d. A third wire
C carrying a current lis to be kept parallel
to them at a distance x from A such that the
net force acting on it is zero. The possible

values of x are:

4
Al B
ILia : v,

X,

- | »
Options:
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1.
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femm 74 f99 5 91 98 A 941 B § aied 9RE
[, AL &I AF A= FI g0 d 71 1 9w =en
TF TR AR C FI 576 TR A Hxy T W
WATFR I F AR FATATIE 2 F
g HqH 2

B
A : B
I p i v 1,
<
—g—
Options:
T Ifd
1 —-15)
1 1 2
14 I,
x= d x= =—d
[1I+1EJ 1)
2.
( lI W ["J
= d K= =
5 [11 I T (L + 1)
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No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
2l gl Yool o ARL A 214 B HiEl 1
el [o/zdl [Bgaens «¢ 8. dzidl azad
wd d 6. dxli-d w4z 5195 215 Ao Tl
gl R C A A ol x =i 2l dd 2
2l 5 5 oyl il U2 APIG, HHR Gd Y AL
x Al sy Badl & ¢

C
Al B
LA yL
o d
Opt_ions
x=% hié
(I~ Iz

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A transformer consisting of 300 turns in the

primary and 150 turns in the secondary
gives output power of 22kW. If the current
in the secondary coil is 10 A, then the input
voltage and current in the primary coil
are :

Options:

; H0Vand20 A

20V and ;
5 220Vand10A @collegedumas



5 40V and5 A

i 220V and 20 A

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
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300 T ATell Mg FUSe a9 150 T el
2.2 kW 21 afe fgdtas Fveel § 9/ #1 9[
10 A & & 9391 diees iR oo Foee |
HT{T%FFT;I% -

Options:

, 40V TA20 A

, 220V AT10 A

z U0V TAS A

4 20V aam20A
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wig 25 WL 300 @2l 2 150 22t
dsesdldl Bud &, el 2uB2ye wer 22 kKW
ol 8, sd As=63l dfuouHinll wHR 2dl des
10 A €l ol Ml 2P0l Yae wdl 94y
cllegsy Wil Ul _ 5.

Options:

, 40V 2120 A

20V 24 10 A
40V 245 A

4 220V 2420 A

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl~' =~ Tio=ion ©rntion
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The electric field of a plane electromagnetic

wave is given by
—3 I
E=E; i cos(kz) cos(wt)

The corresponding magnetic field B is
then given by :

Options:

ﬁ} = &? sin(kz) sin(wt)

1.

— .Y

B = B i sin(kz) cos(wt)
Z. c

— A

B = —j cos(kz) sin(wt)
3 c’

B = Ek sin(kz) cos(wt)
4. C

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
UF HHAA Taa-=E T F 9 e
=g

=2 M

E=E; i cos(kz) cos(wt)

T W TEFHE 99 B BT
Options:

ﬁ} = &? sin(kz) sin(wt)

B - 5; sin(kz) cos(wt)

iy C

— A

B = —j cos(kz) sin(wt)
3 c”

B = %k sin(kz) cos(wt)
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Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 WrongMarks: 1
215 Wit [Ayreiesl oo Ay s Al yset
il 25 &,

E= Ey i cos(kz) cos(wt)

Al 2oisly Bt B ¢l -
Options:

-5 . AN
T

= —f sin(kz) sin(wt)

B - 5; sin(kz) cos(wt)

i S

o N A

B = &f cos(kz) sin(wt)
3 c”

B = &k sin(kz) cos(wt)
4, C

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
One plano-convex and one plano-concave
lens of same radius of curvature 'R’ but of
different materials are joined side by side
as shown in the figure. If the refractive
index of the material of 1 is .y and that of 2
is 5, then the focal length of the

combination is :

1\ K2

K1/ 2
2t
Options:
R
H B
1 1 2
2R

H1 = W2
z. ;
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2(p1— 12|

R
2—(p1— p2)

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
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UF HHAA-396 3T U WA 3faae o F,
fomaht askan o= ‘R’ & 91 st el & =9
£\ T A #1 Fearar fage fean s )
I T8-1 % 9= 1 AT ., T E-2
F g1 AT ., € A TH A H
Wﬁﬁ@ﬁ

N K2
|

Options:
R
Hi = Ha

| 2(pg — p2 )

R
2-(pg— pz)
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AUl cdsell Blocdl ‘R Uid syEL-s(EL gL Sell
wis wuddl-eleaia (plano-convex) pe]
Hudely =it (plano-concave) A 2ise{lsa
A gl sl Yoot Al saHl 21 .
o g1 AL csloteris g 2 oflsn 2 AL s €1
Al 2l Hdloytdl srgdous &

TN Ho

b1/ 2
Options:
_R
1 = o
2R
o P H2
_ R
. 2{p1 — p2)
R
4 27 (r1—p2)

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A ray of light AO in vacuum is incident on

a pglass slab at angle 607 and refracted at
angle 30° along OB as shown in the figure.
The optical path length of light ray from A
to Bis:

A 60 Vacuum
- glass
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Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

U YT 1 T AQ Faia & %19 H 60° &
=HT0 T ST & 991 SHeRT 279944 30° & HI0
9 OB % THfey faaran e 21 33 fFm
# A H B T% YHIIE 99 @R (optical
path Iengm)%ﬁ’ﬁ:

A i
. 60°!
a ;H ""H-..i_.{_._! D ﬁaﬁa
1 1, =
b 15 chid
i U
b .
Options:
2b
2at+—
L B
2+/3
+2b
= 4
) P
5 2ad 2b
2b
2a+ T
4, :

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
2lrdletse il s UsleL Brel AO iy st (o)
Y 60° 5181 2L =L B 217 30° AL 518L OB -l
(Baul sasloqet 2 &, s el A = B Al

usially yz deys 231,
A !
[ 6[] : £
o2 LUrH 5131
i 5, 51
bi 305\:l

I
I
s peece. . .
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1.
243
+2b
zZ. d
a4 7
= 2a+ 2b
b
g :

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

In a photoelectric effect experiment the
threshold wavelength of light is 380 nm. If
the wavelength of incident light is 260 nm,
the maximum kinetic energy of emitted
electrons will be :

1237
Given E (in eV)= MTIU“]
Options:
L 3.0eV

5 45eV

5 15.1eV

1.5eV

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

UF WHY TaEd a9 A H G H <gel
= 380 nm 1 AT s9fed o i fure=d
ZEiﬂnmEﬁf.fT?Tﬂﬁﬁﬁﬁ?jﬁﬁﬁW
TS Fa &

1237
A(in nm)

fem % E (ineV)=

Options:
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3.0eV

45eV
15.1eV

1.5eV

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 Wrong Marks: 1
s s219Asgls 2zl HdPEL @i usieHl
Ales dZEeA 380 nm . s 2L Uit «Al
A2l 260 nm €M dl Geuls/d dasziAl-l
HeriH 2A[ABsd %3l

1237

Alnm)

wUd[ E (eV )=

Options:
L 3.0eV

5 45eV

5 151 eV

1.5eV

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Two radioactive materials A and B have
decay constants 10A and A, respectively. If
initially they have the same number of
nuclei, then the ratio of the number of
nuclei of A to that of B will be 1/e after a
btime :
Options:

1

i 10 A
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Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

=1 7feandt geret A 99 B 5 & fAgaiE, wE,
10A A A B 1 Ffe ey | 59 i &1
= a2 ol o 999 9 A9 B &
AT T H=A HT I 1/ e BN :

Options:

2
Y
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of ez e uR il A 24 B Al salunls 2iqsd
T0A 24l A 8. st MIEOHL 2l s HvaiAl
el €14 Al A 21 B AL ~4faaai-l vl
eliriz 1 /el A Hieel M3 =il
Options:
1
10 A
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Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

An npn transistor operates as a common
emitter amplifier, with a power gain of
60 dB. The input circuit resistance is 100 £2
and the outputload resistance is 10 k{). The
common emitter current gain f is:

Options:

;. 6% 10%

60
2.

2
= 10

4
g 30

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T npn 2T 60 dB WIfs w1 el 39T
ISd YauE & ®9 H F9 a0 €1 9
gftgy = faen wfadig 100 O 991 friF @
Hfads 10 k() B 1 S9ATS Soeis 91 w1
B%:

Options:

;. Bx 102
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Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

215 npn 2ld 232 60 dB /2l W I HElL

siuA 2iflez apelsiz a2l ad &, uRuuHl

geiyz Rl 100 Q 24 206G2ye dls (eR)

2R 10 kQ 8. st 2zl wae aled g
8.

Options:

1 px10%

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A message signal of frequency 100 MHz
and peak voltage 100 V is used to execute
amplitude modulation on a carrier wave of
frequency 300 GHz and peak voltage
400 V. The modulation index and
difference between the two side band
frequencies are :

Options:
] 0.25;1x10° Hz

5 4:2x10° Hz

5 0.25:2x10° Hz

i 4:1x10° Hz

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl '

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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100 MHz 31gfa a1 fsrae aeea 100 V&

uF I 9= #3300 GHz #gf

Ten Ty Jieedr 400 V Fi UF 9e® a3 &

A Afged F01 F ol w0 g1 Higer
o A1 31 9I9e SU2 o SAgfadl # SR

G

Options:

, 0.25;1x108Hz

5 4:2x10° Hz

i 0.25:2x10% Hz

i 4:1x108Hz

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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100 MHz 20t 244100 V uls (Merd) diesy
Lol #is Ul Hsd (message signal) -
300 GHz =ugft 2+ 400 V s dicesy o
542 d791 (carrier wave) W 20elzys WsydiA
adls AR 2Ud B, YA Bisd i o
Hids ols Al 2ugf ozl dsiad o.

Options:
] 0.25;1x10° Hz

5 4:2x10° Hz

5 0.25:2x10° Hz

i 4:1x10° Hz
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A moving coil galvanometer allows a full
scale currentof 10 4 A. A series resistance
of 2 M) is required to convert the above
galvanometer into a voltmeter of range
0 -5 V. Therefore the value of shunt
resistance required to convert the above
galvanometer into an ammeter of range

0-10 mA is :

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.

Options:

: 200 €2

5 100 £2

g 500 02

i 10 02

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 Wrong Marks: 1

U e F 2ol TearHI2, o1 quf fa&T um =

MT10°4A 2 SHR TH0-5V WH F

AreeHe | 95ed o fod 2 MQ & gfay =i

ATFYEFHA &1l 2 | 1 59 TF 0-10 mA WH F

e § F5ed & fod fa wiz gfadg =0

AEvEE B

Notg:dlz?r this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:
: 200 €2

5 100 £}

g 500 2

i 10 02

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl '
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215 Uldd so ausdl el il 104 A
o2l MeETH HElE AR 29 205 8, 2L 3lea Rz
0-5V 3rey Griddl Alezlezal 3uicdld se
e =i 2 MO Al el waziadl v: ub oo,
Al Guzlsa ez A 0-10 mA Fmsy Yddl
szl 3uldR sve avzdl 2z © ¢

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al

candidates.
Options:
: 200 12

5 100 2

g 500 2

i 10 02

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

[n a meter bridge experiment, the circuit
diagram and the corresponding

observation table are shown in figure.

R =X
:ﬁesistancé
“box -~/ Unknown
j;‘;@' resistance
"
I 7\
E K
Sl No. R (£1) [ {cm)
1. 1000 60
2. 100 13
3. 10 1-5
4. 1 1.0

Which of the readings is inconsistent ?

Options:

1
1.
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ek Hied W WA o Tord, 9 ae Joa T

it fom  feg 73 #)
o I{ - l.'f'!.'fl'."'u"'. x
_‘i(esistanc}‘,
“~_box . /Unknown
(G et
s~ resistance
PR |
|| s
E K
Sl No. R (£2) I (cm)
1. 1000 60
2. 100 13
3. 10 1.5
4. 1 1.0

=T T o1 IETF ST § 7

Options:

1
5 8
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s Hlza ofly MADIAL 2adlsd @A by
215l Cdie §.

e R i l."l"."ll'."l'-.'.'.l X

(il ollsn) -
e _/'f : wiEtld 24eE 8

| /|

E K
4 R (1) [ (cm)
1. 1000 60
2. 100 13
3. 10 1.5
4, 1 1.0

Al 5 21adlst 4 A ad asi 4dl)

Options:
1
1
2
2.
3
o
4
4.
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Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl collecedinias
No Option Orientation : Vertical ke, i



Correct Marks: 4 WrongMarks: 1
The increasing order of the reactivity of the
following compounds towards
electrophilic aromatic substitution

reactions is :

Cl H, COCH,
>
S

([ (1) (1)

Options:
; D<I<Im

, I<M<T
, M<I<T

g, M<O<I

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
wirfes gorae Tel Wiaers sifafEamsd 1
fr=afeafaa It =1 "2 Afafmarasa =
F%"HTW%:

Cl CH,  COCH,
(D

() )

Options:
, H<I<In

, I<HI<T

- M<I<I

, M<I<I

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 collegedunia:
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(-2t sl M2l 2454l AL 2adl $4 2Ll

Cl

“OCH,

(1) () ()

Options:
; D<I<Im

, I<M<T

; M<I<I

g, M<O<I

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Major products of the following reaction

are :

_~~_CHO (i) 50% NaOH
| + HCHO — = >
B (ii) H,O
Options:
~-COOH
CH,OH and
CH,OH
HCOOH and

~-CH,OH ~~_-COCH
and |
T
=

CH,OH and HCO,H

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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=t afufrn & g1 see 2
_~~_CHO (i) 50% NaOH
| +HCHO — T >
Mo (ii) H,O
Options:
_~~_COOH
CH,OH & |
.
1
~~_CH,OH
HCOOH a1 |
P e |

~CH,OH —_-COOH
a |
<4 e

, CH;OH e HCO,H

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Al 2l wsieAl yoa Aluse el -

~-CHO (i) 50% NaOH
+ HCHO — s >
(i1) H30
Options:
~-COOH
CH,OH =1
1:
HCOOH =i |
5 e

= -CH,OH —~._-COOH
(™=
= = -

, CHiOH 2 HCO,H

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl

No Option Orientation : Vertical @collegedunias
Correct Marks: 4 WrongMarks: 1 Indi's argest Student Review Platform



Amylopectin is composed of :
Options:

a-D-glucose, CI —C4 and C?_ - C&
L linkages
B-D-glucose, C;—-C, and C; - C,
linkages

a-D-glucose, C; —C; and C; —C

linkages

B-D-glucose, C;—C, and C,-C,
linkages

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Options:

, o-DgHM, C, ~C, T C,~CdH

5 B-D-Teahls, C; — C, 791 C, —C, 94

. o-D-TFHE, C, —C, T C, ~C,HH

, B-D-IHE, C,—C, 3 C,—~C, 34

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al Y52 2L oiHdl .
Options:
, D5, C,—C, #41 G~ Cg ool

, B-D-%sbi, C; —Cy 2 C; — Cg sasiCll

. a-D-%gsls, €, —C, 2l € — C osidll

4 B-D-245k3, C; —Cy 241 G~ Cy ssiill .
' collegedunia



Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The principle of column chromatography
is :
Options:
Differential adsorption of the
substances on the solid phase.

Differential absorption of the
substances on the solid phase.

Capillary action.

Gravitational force.

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T Uil 1 g 2
Options:

3 S TS W =T & e St
& 21 T T 9219l & e STy

5 HITeR TR

, e =

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
wcoy sluzizusl -l Beaia
Options:

| R Guz ugielld dsadld e

, Gl Bl Guz gl dsiadly vaaiivet

o -G
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Increasing rate of 5,\41 reaction in the

following compounds is :

I I
__ ,J\ MeO /L_H
- o)
(A) (B)
I
1 e
L
H,C ™ H,CO~
(© (D)

Options:
, (B)<(A)<(D)<(Q)

, (B)<(4)<(Q)<(D)
. (A)<(B)<(0)<(D)

., (A)<(B)<(D)<(Q)

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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1 2fimei 3 5,1 @At =i =l &1 i -

I I
I ,.-L\_x MEDH: ,J\_
(A) (B)
| I
oL
5 2 2 2 H,CO
(©) (D)

Options:
, (B)<(A)<(D)<(Q)

, (B)<(A)<(C) <(D)

. (A)<(B)<(Q)<(D)

, (A)<(B)<(D)<(Q)

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
oAzl 2 didlerdl W2 S,1 AL 2adl 54

3LLEL
I ]
2xix M"’C’-ai .xjm_
(A) (B)

I I
" L‘“x /@;*’J\
Hac.x-O H,CO Xy~
© (D)

Options:

; (B)<(A)<(D)<(Q) .
' gcqllegedumas



, (B)<(4)<(Q)<(D)
. (A)<(B)<(O)<(D)

, (A)<(B)<(D)<(Q)

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Ethylamine (C;HsNH,) can be obtained
from N-ethylphthalimide on treatment
with :
Options:

;. CaH,

, NaBH,

= H,O

NH,NH,
4. = kz:

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

7 # 4 fFas |y Aivga 0 91 W/
N - Tfy@demEe 3 ufaeidy (CHNH,)
T fepan 11 e 27

Options:

;. CaH,

, NaBH,

= H,O

NH,NH,
4. = =

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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N -geugenefdads A =l 2adal 541 Ao
Al Ul 57 Jade 208+ (C,HNH,) Hadl
315147

Options:

i SEL

, NaBH,

5 HO

NH,NH,

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product of the following reaction

is :
O
HI (excess)
o A
NG~ “‘0_<
Options:
NC— ~OH

Q /DT |
NC

:
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Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

foey sAfufsran =1 7= 3ems 2

NC~~ ™SO

Options:

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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O~
HI (48 4sdl)

Options:

NC- TOH

_OH

/

Z
(d
Y

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product of the following reaction
s :
o
CH,—C—CH CH, CH3OH
[ Br

Options:
gH
CH;—C—-CHCHj

E B
4 H OCH,

:
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s
CH;—C=CH CH,

z.
CHy—C—CH,CHy
- OCH;
CHj
CHy—C —CH=CH,
4. H

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fr sifferan =1 7= 9ems ©
G
CHz ~C—CH CHs CH,0H
H Br
Options:
g
CH;—C—CH CH,
1 H OCH,
cH,
, CHy—C=CH CHs
o
CHy— ¢ —CH,CHy
N OCH,
CH,
CH ~C~CH=CH,
4 L&

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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H,
CHj—C—CH CH; CH,0H
H Br
Options:
cH,
CH;—C—CH CH,
1 H OCH;
s
, CH;—C=CH CHs
g
CHy— C—CH,CHg
- OCH,
CH;
CH; —C—CH=CH,
4. H

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following is a condensation
polymer ?

Options:

1 Buna-5

Nvlon 6, 6
2. £

= Teflon

¥ Neoprene

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
= | 4 = 99 Jges 27

Options:

AT -5 :
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o AEAHE 6, 6
3, ool

, i

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al 2rderiEl s Herd s 97
Options:

, “4-S

5 AlHElA 6, 6

5 Cselr

, Pl

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product of the following reaction

is
I|DH
CH,CHCH,CH,;NH»

ethyl formate(1 equiv.)
triethylamine i

Options:

|
CH;CHCH,CH,NH,

(|3'H
. CH;CHCH,CH,NHCHO

. CH;CH=CH-CH,NH,

llt}ll
g CHy - CH-CH=CH,

:
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Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
frefafas wfafrn =1 9= TR ©

OH |
CH,CHCH,CH,NH, 3o wrie (1§7)

greuferert i

Options:

0
P
O H
CH;CHCH,CH,NH,

(|Z}H
. CH;CHCH,CH,NHCHO

. CH;CH=CH-CH,NH,

lll}ll
¥ CHy -CH-CH=CH,

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AlziAl ulsuedl 3o dlusr & ¢
OH

| Tandaslz (1 equiv.
CH;CHCH,CH;NH, E-'@llhi-{siﬁa( equiv }}

ARBERIE R

Options:

O
A

O H
CH;CHCH,CH,NH,

(|3'H
. CH;CHCH,CH,NHCHO

. CH;CH=CH-CH,NH,

:
gcollegedumas
India’s largest Student Review Platform



llt}ll
¥ CHy -CH-CH=CH,

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The isoelectronic set of ions is :

Options:
] N3, 0% ,F and Na*
5 Lit,Na*t,0?2 andF

. N*~,Li*, Mg?* and O?

g F~,Li*,Na* and Mg2*

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HEA H HHTARI AR T2 B
Options:

; N*7,0%,F~ @4 Na“

5 Lit, Nat, Q2 @& F

5 N°7,Li*, Mg?* @ O?

4 F~,Li*, Na* @& Mg2*

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
il ddsglAly sds 597

Options:

; N*-,0%,F~ *l Na*

5 Lit,Na*,O* =4 F

5 N3-,Lit, Mg2+ 2 O2

:
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, F,Li*, Na* 21 Mg?2?

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Match the refining methods (Column I)

with metals (Column 11).

Column | Column 11
(Refining methods) (Metals)
(I)  Liquation (a) Zr
(IT) Zone Refining (b) Ni
(III) Mond Process (c) 5Sn

(IV) Van Arkel Method (d) Ga

Options:

; (D= () (W) - (a); (II) - (b); (IV) - (d)
o (D)= (); (I) = (d); (TTT) - (b); (IV) - (a)
5z (D= (b); (IT) - (c); (ITI) - (d); (IV) - (a)

4 (D= (b) (1) - (d); 0I) - (a); V) - ()

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
aitswTm fafysr (FTAA 1) FT1 9q el

( T 11 ) 5 Ty GHS Fiford |
FTAH 1 T 11

( ufrerTor fafu ) ( &mad )
(1)  TTEATF HFR (a) Zr
() < AwEET (b) Ni
(I) 2 WA (c) Sn
(IV) =F 3 fafy (d) Ga

Options:

(D= (c); (1) - (a); (I - (b); (IV) - (d)
o (D) - (c); (I) - (d); (IIT) - (b); (IV) - (a)

(1) - (b); (IT) - (c); (IIT) - (d); (IV) - (a)
= @cqllegedunias



4, (D= (b); () - (d); (M) - (@); (IV) - ()

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
algszeidl wEadl=il (zdet 1) 4 gl
(welel I1) 48 sdsl

et sded 11
(abgszesdl 4Eadl-1) (HieAL)
() swoled (a) Zr
(I i 2Ylgswal (b) Ni
() =5 UsH () Sn
(IV) de =5 yeald (d) Ga

Options:

; (D= () (W) - (a); (II) - (b); (IV) - (d)
o (D)= (); (I) = (d); (TTT) - (b); (IV) - (a)

5z (D= (b); (IT) - (c); (ITI) - (d); (IV) - (a)

4 (D= (b) (1) - (d); 0I) - (a); V) - ()

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The synonym for water gas when used in
the production of methanol is :
Options:

L fuel gas

> natural gas

y laughing gas

Syn gas
4 MB

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
X T ol T = | J9AE ® @ ——
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Options:
I 9

1
o AT
o W

, T

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
sy, (22 d) sedlz (HEAaHl vtz
UM B iR ol W 5417

Options:

| sl ey

o gl Ay
5 Ao A1

¥ Ml 3

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The alloy used in the construction of
aircrafls is :

Options:

, Mg-Al

5 Mg - Sn

= Mg - Zn

4 Mg - Mn

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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e (fagu)
Options:

;. Mg - Al

5 Mg - Sn

= Mg - Zn

4 Mg - Mn

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[l 22y gyl Feed 567

Options:

, Mg-Al

5 Mg - Sn

= Mg - Zn

i Mg - Mn

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The oxoacid of sulphur that does not
contain bond between sulphur atoms is :

Options:
1 H,5,0,

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl ]
No Option Orientation : Vertical collegedunias

Correct Marks: 4 WrongMarks: 1 ~



o 3 T2 AFEIAE TEH He o T
& =9 A AL B,

Options:
1 H,5,0,

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Hesirl wUsHIIRLS, o MeszAl YRSl 922
ol Ytetedl Al A

Options:
1 H252D4

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The correct order of catenation is :

Options:

1 SizS5n=>C>Ge

5 Ge>5n>51>C

z €>51>Ge = 5n

4 C>5n>5 = Ge

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl

No Option Orientation : Vertical gcollegedunias
Correct Marks: 4 Wrong Marks: 1 India' argest Student Review Platform



ST 1 TE HH ¢
Options:

1 Siz5n>C>Ge

Ge>5n>51>C

z.
5 C>5 >Ge =~ Sn
4 C>5n>51i= Ge

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
SeAtHL Wl #3405 © ¢

Options:

1 S5i>5n>C>Ge

5 Ge>5n=>5i>C

5 C>5 >Ge = 5n

4 C>5n>5i= Ge

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Consider the hydrated ions of Ti2+, v2+,
Ti**, and Sc**. The correct order of their
spin-only magnetic moments is :

Options:
;. St <Tidt < Tt < V24

5 TiF¥ <Ti?*+ <S5+ < V24

5 St «Tidt « V2+e Tjt

i VIS TRh <R hs500

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl

No Option Orientation : Vertical gcollegedunias
Correct Marks: 4 Wrong Marks: 1 India' argest Student Review Platform



Ti2*, V2* Tid* q9r Sc3* & Fodifad ArEHr
T fFER FIad | 9% (0F-9E F=EE Ao
FIHAFAE -

Options:
;. St <Tid* < TE* < V2

5 T €T+ <Bchr< VA

5 St <Titt < VE P Tt

J Vl.-{Ti 'L‘:Tia"l "CSC‘EF

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ti2*, V2%, Ti** 24 St evelllova 2l
el Al Auedl gsct 2l 2eisly wsweuHl
Al 5¥ 54L7
Options:
;. St <Tid* < TE* < V2

5 T €T+ <Bchr< VA

5 St <Titt < VE P Tt

J Vl.-{Ti 'L‘:Tia"l "CSC‘EF

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Three complexes,

[CoCI(NH,),]2* (1),

[Co(NH,)5 H;O]* * (IT) and

[Co(NHy) P+ (1)

absorb light in the visible region. The

correct order of the wavelength of light
absorbed by them is :

Options:
1. () > () > (1)

:
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. (> @ > (1

, (@m)>a>Q

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[CoCI(NH,).J2* (),
[Co(NH,)5 HO* * (1) Ten
[CD{NHa}ﬂP " (1)
=99 &5 H T AU F &1 T 5N
YA W9 % TS &1 Wal FH 20
Options:

;. () > (D> (1)
, (0> (>
_ (> @ >

, (> (> ([

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
=L gl
[CoCI(NH)s]** (1)
[Co(NH )5 H,O* * (IT) it
[CD(NH:,’)ﬁF " (1)
eI [CRalr il usted 2MeL 53 8. il gRL
aiMldl M5l dZadendAl Wl sy
&
Options:

1. ()= () > (I

, (D> (> [
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The species that can have a {rans-isomer
is :
(en= ethane-1, 2-diamine, ox = oxalate)

Options:
. [Pen)CL]

5 [Zn{en]{flz]
g [Cr(en),(ox)] "

" [Pt(en),Cl,]*

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
=8 DI To9a U 279 - Asar 81 Hal
%
(en=T¥-1, 2-EEUHM, ox = HATEIE)

Options:
. [Pt{en)Cl]

5 [Zn(en)Cl,]
g [Cr(en),(ox)]

a5 [Pt(en),Cl,]**

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
wllallo 5 o7 2l WHu2s Y 6
(en =92, -1, 2-st4=(H18, ox = 2lsia2)
options P collegedunia



| [Pt(en)Cl,]
5 [Zn(en]{flz]
g [Cr(en),(ox)]

» [Pt{en),Cl,]*"

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The regions of the atmosphere, where
clouds form and where we live,
respectively, are :
Options:
Troposphere and Troposphere

5 Troposphere and Stratosphere

Stratosphere and Troposphere

i Stratosphere and Stratosphere

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AFHS I T8 9 el A1Ee A7 ¢ adl foa
Options:

| SRR (HEEE) 991 SR

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single! ina Ouedtinn Ontinn -
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 @collegedunias



AldleReAL 24 [EHadiRl 5 sl WENL “A 8 2
el 2l Bl d 2 B
Options:

] sllo] 2UUICL 2 #6220

5 IO 2USREL 24 HHAL 2UREL

L MM R0 i HL UG

4 HHAM 2AUAREL 24 HHAM 2UsRe

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
At 300 K and 1 atmospheric pressure,

10 mL of a hydrocarbon required 55 mL of
O, for complete combustion, and 40 mL of
CO, is formed. The formula of the
hydrocarbon is:

Options:

1. C4H6

o Cai-HE

5 Gy

, G

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

300 K 791 1 A= 3@ T, UF SEaaEE
% 10 mL & 99 389 & fa¢ 55 mL O, &1
STETIF BTl @ 79140 mL CO, 0= Bt 2 |
mmﬂﬂ%

Options:

1. CQHIEr

2 Cai-HB

:
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Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

300 K 24 24 1 sl 1sRerL 41810 10 mL 215
LE5IsLeAA A HYel g6 539 W2 55 mL O, -l
%3 WS B, sl 40 mL CO, Geust A4 . dl
Bl Slgglstein- 4L 2l 7

Options:

1. C4H6

o Cd-HE

g o

, G

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Consider the following table :

Gas a/(kPadm®mol~ 1) b/(dm’mol 1)

A 642.32 0.0519
B 155.21 0.04136
C 431.91 0.0519
D 155.21 0.4382

a and b are van der Waals constants. The
correct statement about the gases is :
Options:
Gas C will occupy lesser volume than
gas A; gas B will be more

compressible than gas D

Gas C will occupy more volume than

gas A; gas B will be lesser

5 compressible than gas D
' @collegedunias



Gas Cwill occupy more volume than

gas A; gas B will be more

compressible than gas D

Gas C will occupy lesser volume than
gas A; gas B will be lesser

compressible than gas D

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No

Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

= e . fa=n Fifau
™ a/(kPadm®mol™ 1)  b/(dm*mol 1)
A 642,32 0.0519
B 155.21 0.04136
i 431.91 0.0519
D 155.21 0.4382
a 91 b FFETeH feris F1 19 F T H
'Hﬁl‘ ECEl % -
Options:

1.

2.

5

4.

W\ C, 19 A F 9o H FH AT

T, 79 B T D = g | sHme Sy
B |

T C, /M A F qo § SET SAE6H
S, 71 B, 79 D 1 9o § 9 HarEy
2 |

9 C, T/ A Ft gor H 3e AGT
07 79 B, 9 D &I qEA H SR
=g B |

M C, /™ A # go H F9 A
SO 79 B, 9 D % g § H HOrET
2 |

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No
Cor

Option Orientation : Vertical
rect Marks: 4 Wrong Marks: 1
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AL 2ANAL SlE Ll dl
44 a/(k Padm®mol )  b/({dm’mol 1)

A 64232 0.0519
B 155.21 0.04136
C 431.91 0.0519
D 155.21 0.4382

a @il b Sl LAl B 2L @l We
Az [Ee-t el
Options:
Wy C ol =y A s3cll @18 58 As3; Ay

, BElayD s oy goirdly il

iy, C 2L iy, A s3cll 9 5% 21590 4y B
5 D sl 2l el el

Ay C 2 iy, A 53l 94 56 Ustl; Uy B
. Ay D sc a9 ol ¢l

AWy C 2oy A sl g 56 AsU; Ay

, By D skl 2l godld @l

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The graph between )ij|* and r(radial
distance) is shown below. This

repr esents ;

£

]

Options:
i 1s orbital

5 25 orbital

:
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= 3s orhital

4 2p orbital

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

W2 T r (Yfeme ) % == s A= gefvia

T TE =9 ;
Wl
IIII". -'KJFKH.
- -
Options:
1 1s e
> 25 T
3 3s FHE
4 Ep E e

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
W2 2 (R4 2idR) Al 2udv 2td © d
2, ulAlFE 53 5 d 20el )

|
ol
IIIII' l,'.f-\\'\,_‘
r -
Options:
1s 585
1.
25 585

> ,
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5 35 585

o
5 I

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
During the change of C'z to ﬂz_ , the
incoming electron goes to the orbital :

Options:
a* 2p,

5 O 2Py

T 2p,

3.

£ Ty

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
0, O, H 9Red= & THg A =1ell seiag
g Fus d Iam a2 2
Options:
a* 2p,

& ¥ Epl_

T 2p,

3

i TPy

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
0,8l O, L 3uicR 23U 2UHARL Sd I 58
seHL o2l

Options:
o* 2p,

:
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4 2Py

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A process will be spontaneous at all
temperatures if :

Options:

;1 AH>0and AS>0

5 AH<0and AS<0

5 AH<0and AS>0

4 AH>0and AS<0

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T TFH T aMl W =4 8 A
Options:

; AH>0741 AS>0

5> AH<0 T AS <0

z AH<0 T AS>0

4 AH>0 791 A5<0

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ulsl £25 A 2eie] 230 o
Options:
AH>0 @4 AS>0
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, AH<0 il AS < 0

- AH<D il AS > ()

4 AH>0 21 45<0

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
At room temperature, a dilute solution of

urea is prepared by dissolving (.60 g of urea
in 360 g of water. If the vapour pressure of
pure water at this temperature is 35 mmHg,
lowering of vapour pressure will be :
(molar mass of urea=60 g mol h

Options:
) 0.027 mmHg

5 0.031 mmHg

= 0.017 mmHg

" 0.028 mmHg

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

FefdTd W, A = U 7 fae137 0.60 g I
1 360 g el H Heisht S w1 €| 5H @Y
T Al Y5 Sl F 99 4 35 mmHg # Al
a9 TE AT B

(g =1 A’ 5599 =60 g mol 1)
Options:

) 0.027 mmHg

5 0.031 mmHg

5 0.017 mmHg
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. 0.028 mmHg

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
LARSIAL A, Y21 ¥E 2192l 0.60 g 4R
360 g Wbl 2Houvild ciaseml 2ud 8 sd 21
ArgiA 2146 welld ey geel 35 mmHg dl
AAYEALRL B2Lsl 2lil
(3l e e =60 g mol 1)
Options:
s 0.027 mmHg,

5 0.031 mmHg

5 0.017 mmHg

5 0.028 mmHg

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Consider the following statements

(a) The pH of a mixture containing
400 mL of 0.1 M H,50, and 400 mL
of 0.1 M NaOH will be approximately
1.3.

(b)  lonic product of water is temperature

dependent.

(c) A monobasic acid with K, =10 ®has
a pH=5. The degree of dissociation
of this acid is 50%.

(d) The Le Chatelier's principle is not
applicable to common-ion effect.

The correct statements are :

Options:
, (a), (b)and (¢)

, (a),(b)and (@)

:
@collegedumas
India’s largest Student Review Platform



. (2) and (b)

, (b)and (0)

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1 Tl W fa=En i,

(@) =9 fagm = pH, 599 400 mL 0.1 M
H,SO, @41 400 mL, 0.1 M NaOH ¥,
T 1.3 BT

(b) el 1 HAEA U 919 9 00T & |

() K,=10"° =/ U%F UHAREH = =
pH=5 %, 59 377 &1 fadrer A1 50%

Tl

(d) Ta warferd fogra 99 #E9 999 W
& T B 2

T FoA 2 -

Options:

, (@), () T (©)
, (@), (b) T (d)
. @71 ®)

, ®FE)

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A2 e [HaH s AL

(a) 400 mL 0.1 M H,SO, i< 400 mL,
01M NaOH -t (B pH «oeet
1.3 2l

(b) welld 2uslHs opusie dray 2uakd
8.

(©) 25 Hirl Glzs 2RSALK, =107 2
adl pH=5 9, il [Sedlsr=t 2i21 50% el

(d)  azieldxzdl Bedid W sud- 28R
(commorrion effect) @2l < A) Yol
2.

A [Hennl 2liel

Options:

, (@), ()2 (o)
, (@), (b) # (d)
2 @), ()

(b). ()

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Consider the statements 51 and 52 :
S1: Conductivity always increases with
decrease in the concentration of

electrolyte.

S2: Molar conductivity always increases
with decrease in the concentration of
electrolyte.

The correct option among the following
IS :
Options:

. Both 51 and 52 are correct

5 Both 51 and 52 are wrong,

51 is wroneg and 52 is correct
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4 S1is correct and 52 is wrong

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

S1 A9 S2 FYEI W f99R Fifaw

S1: To3a «19929 &1 IF=a 4 FH F 9@
HTeTahel Jod F2dl § |

S2: Toera s1U=eg =1 9rEdl § FH AH F
1Y HieR Setahal 299 92d] 21

=1 o Tl famey B

Options:

, S17w 52 3 W

» S1 7= S2 B e € 1
5 S1 T T 41 52 T T

4, S1 W@l & T S2 e 2 |

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
51 i 52 el sl dl
S1:  [Aylacusat Al uigeri seisl i Al ol
lsalHl SHIAL AR A S,
S2:  [Agrlaeusat Al Mgl s2isl u Al -l
HH lssriMl 2L ARl Y B,
el AL U5l 2=l el el -
Options:
;ST 24 52 %A HizL B.

5 B Wi §2 o WiZL 8.

5 S1 Wi B 1l 52 Wiy B.

4 S1 ¥R ® 214 52 vg ©.

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl gcoﬂegedunias
No Option Orientation : Vertical Ini's argest Student Review Platorm



Correct Marks: 4 WrongMarks: 1

A bacterial infection in an internal wound
grows as N'(t) =N, exp(t), where the time t
is in hours. A dose of antibiotic, taken
orally, needs 1 hour to reach the wound.

Once it reaches there, the bactlerial

dN
population goes down as LT = — 5N?,
L
: Np
What will be the plot of W vs. L after
1 hour ?
Options:

th)

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

T A J19 H S GHA0 T8 YHE
=@ & N'(t) = N exp(t), &1 I99 t 9 H T
@ H T=EEcEH & UH GUF od W
UZtamated "9 a% Tedd § UF 5 ol £

qmaﬁﬂ%ﬂéﬂq@ﬁm%ﬁré&aﬁmm
dN

T I T T, o 5N? =t e
L

Nﬂ =, s, -,
¥ N HYE t TR Ush = =< el .

Options:
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th)

2 tih)
No
M N
4 t(h)

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AUidRs wHl w4 Hsel N (H)=N,
exp(t) 8l 48 & edl Hud t sAlsHl B,
wieZloteifesl we sz Ao se el elzen
wi5 515 QPL S, il oL wéi uesl soeepAi-l
dN

v Al A B, & — = 5SN% 8. dl
L

'Ng W

F[EB-E'H b AL 1L 2du 20l

Options:

Ng /

t{h)
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Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A gas undergoes physical adsorption on a
surface and follows the given Freundlich
adsorption isotherm equation
X _ 05
m

Adsorption of the gas increases with :
Options:
: Increase in p and increase in T

o Increase in p and decrease in T

4 Decrease in p and increase in T

4 Decrease in p and decrease in T

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
U Y 1 U S W A At g @
AR =% fei T wEesfas stfawmo gEard
THHI 1 ST Al &

x
— = ka'E
m

T = AT =@ Afe
Options:
, P AT T

= )
o p e a9 T T
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, P e T T e

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
25 iy quEl v olllds =fdelme ay o,
o o grodla lEaivel wuand wlse

T = kp® A wead B, dl aryd =Rl
m - -

qe2l sl
Options:
p Ml HAEL A T 4l daRl

1
o, P UL AHRLAA T 3 21l

5 Pl Bl YA T H «aRl

, P s21sl v T i =2l

Mathernatics
Section Id : 416529267
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529407
Question Shuffling Allowed : Yes

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Let flx)=22 x € R. For any A —R, define
g(A)={x e R: fix) e A}. If S=]0, 4], then
which one of the following statements is

not true ?

Options:

. fg6)= )
o ﬂg{S}}ZS
. 8(f8)=S

, 89)=86)

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A fix)=x2 xeR | T 1 A =R, F o0
g(A)={reR:f(x)e A} TI AES=[0,4] T, @
71 5 | = |1 UF FE HE T ¢ 7
Opf[ions:

. f@6)=f6)
o> ﬁg{S}}:S
5 8(S)=S

, 8(9)=86)

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Al 5 flx)=x% x e R. 5BUCL AR 3L,
g(A)={reR: flx) e A} Al cuvalfdd 531 oA
S=[0,4] cl {lz [Qeudl U5l 54 w27
Opf[ions:

. [8O)=/6)

> ﬂg{S}}= S

= 8if(5)=S .
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4 8U8)=80)

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
R
(1+ 1)

If a0 and z = ———, has magnitude
a— i

E pens
\5 , then z isequal to:

Options:

1 3,
— i

1 8 8
1 3.
= =

5 5 b
1.
A

3 >
1 3.
- = =1

4. > >

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e a

i

afg a>0 q91 z = w1 g

a
i NB g
(magnitude) Jg %z A

Options:
1 3,
— —ip
1 5 b
1 .3,
e M
5 9 D
1.
3.
1 3 i
- @collegedunias



Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

. " A+ 50 B
oha>0 ¥z = ——— Al Wdis = @,
a— i 5
alz =
Options:
1 3.
— ——1
1 5 5
1 3.
—
5 5 B
3 1,
- ——q
4 5
1 3.
o=y
4. 5 5

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

If « and $ are the roots of the quadratic

equation, x>+ xsinfl — 2sinf=0, 6 € [ﬂ,g},

then 57 is equal to :

(“—12 | ﬁ—IE]‘[“ 8)2

Options:

(sind + 8)'2

[ sint) 8)

(sinfl 4 8}12

:
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Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
i fgEmdl T, a2 + x sin —2sinf=0,

HE[D%W FHAa TAMBE, @

4

9 9
t"l[:’sI"

. R
(u_”‘ f Ii_lz_ﬁ'tu iﬂ}24

Options:
~b

(sinf + 8)

12

(sinth — §)

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
od o 2l B [gead walszel

12+ xsinh — 2sinf=0, 0 € {&%W el oloy i,

!
A

A | al?y Iﬂu
dl (u_lz : Iﬂ—IEjH-u H}h =
Options:
26
(sinf + 8)'2
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-

21.-_
(sinf — 8)°

212

(sinfl 8}12

412

(sing — 4)2

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

x sinf  cost

If Ay=|-sinb 4 1 | and
cosh 1 x
x sin2  cos26
Ar=|-sin20  —x 1 |, x=0; then
cos 20 1 X
forall 8 € |0, EW .
| 2 A

Options:
y Ay—A,=~ 2x°

Ay +A,=—2(x%+x—1)

j A; — A, =x(cos20 — cos46)

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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x sintl  cost
gfe Ay=-sind —x 1 | @@
cosH 1 X

X sin2l cos20
Ap=|-sin20 —x 1 |, x=0; WA
cos2i 1 x

0 e [ﬂ, IJ ERGLE
LR
Options:
A —A,=—2x5
1. =

5 Ay +A,=—-2(x3+x—1)

j A; — A,=x(cos2h — cos46)

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

x sinfl  cosb
s Ay=[-sinb -x 1 |24
cosl) 1 x
x sin20 cos20
As =|—sin20 X 1 ,-_r:tﬂ; ol SHElL
cos 26 1 X

11 -

of 0e|0, —| He:
{ 2]
Options:
A —A,=—218
1 =

5 Ap+Ay=—2¢

5 A +A==2(x*+x—-1)

i Ay — A, =x(cos2B — cos40)
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Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the system of linear equations

x+y+z=5

x+2y+2z=6

x+3y+hz=p, (A, p € R), has infinitely

many solutions, then the value of A+ pis:
Options:

;12

> 10

b
~1

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

afe tfgs i fam

x+y+z=>5

x+2y+2z=6

x+3y+Az=p, (A p e R) F 37 2 2, A
A+p FHAS

Options:

;12

o 10

o
~1

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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od Yot a{lsuel deld
x+y+z=>5
x+2y+2z=6
x+3y+Az=p, (A, pe R), A 2idd Ghal €,
Al A+ Al Bud 8.
Options:

; 12

> 10

b
et |

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The number of 6 digit numbers that can be
formed using the digits 0, 1, 2,5, 7 and 9
which are divisible by 11 and no digit is
repeated, is :

Options:
. 48

2 60

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

¥ (digits) 0,1,2, 5,7 919 % ¥4 4 B:
ST Fre UH S, o 11 ° 9=g @ a9
ol € +ft s <ramr 7 o, e
Options:

1. 48

> 60
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Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
YA 212 0, 1, 2, 5, 7, 9 2isl-L Gusio 8l 6
wisldl 11 4 Eousey sedl Hva wa?

Options:

1. 48

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If By By By wsvivaviioy Wy DTG in A.P. and
aytagtaz+ ......... +aj5=114, then
a;ta.+a; tais equal to:

Options:

1, 38

95

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A ay, ay Ay meeeen ,a, T TAE 99 H €
T a; +a; +as+ e +a16=11-—1 %J Gl
ﬂl 'l"ﬂ.ﬁ‘l'ﬂ.f['}'aIbW%:
Options:

38

1.
@collegeduniag



95

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
o ag i ,a, widr 2elul (AP
G M a, + gy tas+ o, ta,, =114, dl

———

Options:

1, 38

95

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The sum

3w 13 Bx([P+2%) 7x [P+ 22+ 3

i 1% 402 124 2
upto 101 term, is :

Options:
i 600

5 620
z 660

4. 680

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
@collegeduniag



2 2+ 22 1+ 2%+ B

¥ 99H 9 T8I %1 ATEA © ;
Options:
, 600

620

680

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Mzl

|43 5 (23, 5 3
g 13 BX|HT) TX {17+ 3
¥ T

] 12 4 22 3 o5 o T

(10 ug yell) caer
Options:

i 600

620
z 660

4. 680

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the coefficients of x2 and x> are both zero,
in the expansion of the expression
(14 ax+bx?) (1-3x)"in powers of x, then
the ordered pair (a, b) is equal to :

Options:
, (—21,714)

—54 3
, (=54,315)

5, (28, 861) gcollegedunias



28, 31
, (28,315

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
afg x H1 =al (powers) H, =A9H
(1+ax+bx?) (1-3x)!° &F 87 | 22 791 27
SF1 % TUE YF F T, O FHiEd g
(a, b) = & :
Options:
. (—21,714)

—54 3
, (~54,315)
5 (28, 861)

28, 31!
, (28,315)

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

x Al s, FHawel (1+ax+ba?) (1-32)0
Al [, s x2247 13 ol 4eyR1sL 241
€1, ol 345t ods (a,b) =
Options:

, (—21,714)

—54 3
, (~54,315)
5 (28, 861)

28, 31!
, (28,315)

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A 1 1.3 -1{3

- :
If lim = lim 5 5 .thenkis:
r—1 x—1 =k y- =k

Options:

:
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03 | e

LI | oo

.UJ
oo | e

k| e

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

4 3 43
Ife lim

x =1 - =
= lim———=, 9 k 9TEH
*—31-%—1 r—ky
Options:

2_g 27
4

p, 3

w | oo

.UJ
oo | e

ha |

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

“..'41_,1'3}.:?’\_
sd lim = lim —— «l
-1 x—1 r—k e —k=
k=
Options:
4
3

1.

:
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2,
3
3 8
3
2
4 <

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

[sin (p + 1) x + sinx

, x=<0
: X
lf__r(xJJ. 4 S
; : 2 A
| Va }l-, NE x50

is continuous at x =0, then the ordered pair

(p. q) is equal to :

Options:

(3 1
=)
(5 1)
23
il B4
Mg o

o
b3 |
I\J||—+
- —

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

:
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'sin (p + 1) x + sinx
x
M f(x)= J
x+xi-x
! X2

x<0

=P

x=0

x=0 T Hd &, T HET T (p, q) T E

Options:

ru
e
ba| =
B3| 3
e -

T ———
k3| L2
B3| =
. ——

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

'sin (p + 1) x+sinx
X
ot f(x)=+1 q
Vx + 22—
L /2

2 x=0 20 Ui &Y, dl s945 S (p, q)

Options:

r

x<0

X =

x>0

:
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k3| 2
I\J||—+
- -

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let f:R — Rbe differentiable at ¢ € R and

ficy=0. If g{x}:.|f{:=:}| ,thenatx=c, gis:

Options: .
] differentiable if f'(c)=0

5 differentiable if f'(c) =0

- hot differentiable if f'(c) =0

4 not differentiable

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

O f:R—R, ceR T FTFeEE & ag

fie)y=0 I 8(1}:1"‘((1) ,Mx=c X, g :

Options:

- SEEEHE A f(c) =0

1

, FERCHE &, AE f(c)=0
5 AIFHHI TE T, afE f(c)=0

5 AT 7El 2

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

rls f:R—= R 3 ceR 2 [Ssadld i

2 fle) =0. o g(x)=|f(x)], dl x=c 2014,

B *;l H

Options:

:
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, Esal 8 s f{e)=0

Cisa-dld © sd f'(c)=0

M

o el el ed f1(0)=0

[Eisedl =l

e

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let f(x)=e*—x and g(x)=x2—x, ¥x € R.
Then the set of all x € R, where the function
h(x)=(fog) (x) is increasing, is :
Options:

—1
T, ﬂ:|k_411 4 ?f-}
1 =7

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A fix) =e*—x T41 g(x)=22—x, YxeR, @
g4l x e R, T fa0 ®e hix)=(fog) (x)
IHIH €, T T ©
Opt_lons:

o }

—, 0|u|1, =
; L2

E 3
0, ;}u[l , 00)

2 L -

:
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
qiRl 5 fix)=e*—x i g(x)=x?—x, YxeR.
Al h(x) = (fog) (x) sedl el [ €l Al
reR-l gl 8.

Options:

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

I J' dx
2
|' x2—2x+10 }

.=f1[tan_1[x111 | fx) | +C

| L3 ) ¥ -2x+10)

where C is a constant of integration, then :

Options:
%——I d fix)=3(x—1
. A=gqan flx)=3(x—1)

1
A =§andl,|"{x}=9{x— 1)

:
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A= IJ: and f(x)=3(x—1)

1
_1y2
A= 5_}311::1 flx)=9(x—1)

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

- d
RICEN P 2
|x"—2x+10|

.=:‘1[tan_1[‘x31w | 7j-{x] .1.}_{:

J x —2x+10/

el C U THEH 9L 8, a1

Options:

%—iam )=3(@x -1
A= T flx) =3(x ~ 1)

A= Iﬂﬁﬂﬂx} =9(x—1)

Z. 27
1
;'jL:_.—ﬁzﬂr EX}ZS{I_ I:]
o4 :
=
1
A=—79 fix) =9(x - 1)2
4 hd

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o I

2 TxllﬂJ-

| x—1 x) ) ]
=A| tan II ] { 5 f{ | + 2 sr4l
i -1" F _1"—

2x+10/
C 2 HsarA-l 2R0is &, dl

Options:

| -
A=— l fix)=3({x—
p 1 flx)=3(x—1)

1. :
gcollegedumas



i X
A=— flx)=9(x—1)

2.
A=—— o flr)=3(x—1
5 3 54 J x _"{'1 }
A=—o8 flx)=9(x—1)?
. L f(x)=9x—1)7

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
2

The value of _[[si_n Zx{'ilcnsh"f]d:f'
0

where [t] denotes the greatest integer
function, is:

Options:

1, 20

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

C_:orrect Marks: 4 WrongMarks: 1

2
I[sﬁw?x[licmh“i] dx w1 "M, W [t
]

TETq QUi e 8, 2 :

Options:
7.
1, =%

:
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

[ady gald, i

(%

sl [t] 21 wedu gl

2
‘“sir.:-':x[l ICDF;3I}J dx Al (£ e

0

)
Options:
2w
5 = 27
A
g T A

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1 _ i 1/
| (n+1)3 (n+2)3 (Zn)3 |
| + +---u-.-+

4 i |
n? n'? n? )

is equal to :

Options:
3 4/ 3
= (2)8 - =
1.
E [?_}f’%
> 3
2% 4
= 3
4 .3/
> (2)4
4, 3

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i 1 1 Pt |

s 1y (np2)3 (Zn)? |
lim | Tt . e + 77— |
n—w= pd n? nd |

b A

—_— M collegedunia



Options:

(ad
L
|

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

f .l 1 U

. | (m+1)y?  (n2)3 (2n )3 |

lim | T 2 Fragsees 4 — |

s W n? n? /.*
Options:

3 4/
— (213
i )

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

:
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If y=y(x) is the solution of the differential
d
equation Ey =(tanx -y}sv&*«c2 X,

.f

X e I&_ %. E], such that y(0)=0, then
i3
y[ —] is equal to :
4
Options:
1
? e
1 2
54
= e
1,
%

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

ﬂﬁy=y{x}, e T

dy'_ 2. T
E—(tanx y)sec” x, _}_{:[ 5 EJ
wEE y(0)=0 F 7 T, y[ ﬂ T

!

Options:
1

et
2z

ge]
|
]

4 ©

:
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Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sd y=y(x) =l [sd {lsvel
.dy

a={t.a_1:1:t: -y}seczx, X € [

, —W Al
2

e

* . v B O ( TI'.
G5a e¢ld 5 ool y(0)=0, dl ¥ 1

,_.___
e |
b

Options:
1
; e
1 <
1
24 =
= e
Los
4: €

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The region represented by |1 y| <2and
|;=.' I y| < 21is bounded by a:

Options:
] rhombus of side length 2 units

5 rhombus of area 8 2 sq. units

3 square of side length EIJE units

square of area 16 sq. units

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

|1 y|£2 Hﬁﬂ.|x I y|£2§|’{l‘3—:'.ﬁ'rﬂ BERTEED

B 9id=s (bounded) EAA

Opins: B collegeduna



, 2TEE T
F g=aT faaw duwa 842 7
5 TFE 21
U o TS ST ) o 242 5T
1
)

W 7 forEe A 16 7 T

4

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Jey|€2 = ety <2 gRi sl g A3
Usl sl gzt EEdl )7
Options:
cllogedl dotld) 2 BisH €M dell HHelsy
ATE
| APsieL
82 2l 2isY &asn Eld dol HHelly
A5l

ottggAl cions 242 s €4 Ael 2z

16 2L P54 50 S1 ddl 2.

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

If the circles x> +y%+5Kx+2y+K=0 and
2(x%+ %) +2Kx + 3y — 1 =0, (KeR), intersect
at the points P and Q, then the line
4x+ 5y— K =10 passes through P and Q,
for :

Options:

i exactly one value of K

5 exactly two values of K

:
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> infinitely many values of K

4 DO value of K.

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

afe g x2+y2+5Kx+2y+K=0 @41
2(x*+y?)+2Kx+3y—1=0, (KeR), &
wiq=sed fag PAanQ &, f i dx +5y —K=0
% fagali P a1 Q 9 S 9H & for
Options:

. K =1 91F T qH 2 |

, K% AH 3 AM F

. K % 7 9 2|

7 K &1 % 9 99 981 2|

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sd Ad ol x2+y?+5Kx+2y + K=0 24
2(x2+y2) +2Kx + 3y —1=0, (KeR), P21+ Q
(S5 2t &2, dl ¥l dr + 5y —K =0, P 21Q
wigdl w1z A, o e

Options:

; Kl 25 o Bud wa

5 K Al o o Budl s

g K Al 2 Bl wol

. K Al 245 el [Bud A wa

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
gcollegedunias



The line x =y touches a circle at the point
(1, 1). If the circle also passes through the
point (1, — 3), then its radius is :

Options:

2
1.

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
W@ x=y TF 99 HI {95 (1, 1) T 99 Fdl
T gfe 77 9= fag (1, - 3) | +fi ST SN B,
RIRCCIRES: &
Options:

2
1s

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Wil x=y 518 dAquL - (65 (1, 1) e 23l o,
od 2 <qul (1, —3) Eiguiadl ol vz ad e,
dl d-ll Fsen
Options:

2
1s

)

.zﬁ

:
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Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If the line x —2y=12 is tangent to the ellipse

)
-

2
a

I3

]
, then the

e

|<~=

t

9
: =1at the point [3, ES

=

length of the latus rectum of the ellipse is :

Options:

4 1242

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

2. 2

o - e e 5

afs @, x—2y=12 IHg, —ﬁ,li—ﬁl Ea
2 B2

P '_._" i . . -
fag[?‘r 7J TP A &, Tl S Ao
Options:

4 1242

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

:
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2 2

- A W
o L x— 2y =12 3 Guaaad 5+ _1::"
5753

=1 -l

¢ 9 = r o ¥ o ¥
[Gg |3, — | 2l »wals sy, dl 2u
3

2
Guaaudl Ausiduddl dows £,
Options:
1. 9

4 1242

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If a directrix of a hyperbola centred at the

origin and passing through the point
(4, —2V3 )is5x=4 5 and its eccentricity is

e, then:
Options:
; det—24e2+427=0

5 4et—12e2-27=0

= 4et +8e2-35=0

i 4ot — 2402+ 35=0

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

U AfTREAT 1 FE gatag W € 99 98
fag (4, —2V3) & F9 o ¥ AfE TEE
U I (directrix) 5x=4+5 ¥ w1 SHH
WD%,T‘?[:

Options:

:
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, det—24e2427=0
4ot —12e?-27=0
4t +8e2—-35=0

4ot — 2402 +35=0

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ot Gorulilg Troauon » (4, —2V3) [Ciguiell

YuR %l »ibaaud Faubist 5x=4V5 &
2l Gebrgell e €14, dl
Options:

| 4et—24e2427=0

o 4et—122-27=0

5 det+8e2-35=0

4 4ot — 2402 +35=0

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let A(3,0, —1), B(2,10,6) and C(1, 2, 1) be
the vertices of a triangle and M be the
midpoint of AC. If G divides BM in the
ratio, 2: 1, then c::rs('é GOA) (O being the
origin) is equal to :

Options:

1

——
1 J15

N
5 V30

:
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Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A U IS % W™ fasg A3, 0, - 1),
B(2, 10, 6) W91 C(1, 2, 1) & @91 AC I
qeafag M €| @ G, BM #12: 1 % F9IE
® fawifag wTa@1 &, @ cos( £ GOA)
(O Heifag ) =R & :

Options:

1=

]| =
=

]
2]
n

1

610

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=

QiRL 5 A(3,0, —1),B(2,10,6) #4 C(1,2,1) =
s19 Bstert BrilCig2l & =4 M =l AC 4
HH[og 5. oA G ¥ BM + 2: 1 2l
[Aousy 53, dl cos(<£ GOA) (sl O Gopilelg
&) eleR .
Options:

1
S
1 W15

53

30
2. @collegedumas



Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If Q(0, —1, —3) is the image of the point P
in the plane 3x — y + 4z =2 and R is the point
(3, —1, —2), then the area (in sq. units) of

APQR is :
Options:
\-‘ﬁ
1. 4
, 213
J65
-
N
4 2

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

afg fawg P 1 |9Ha 3x — y+ 4z=2 H Hfdfa=
Q(, —1, —=3) Ea R (3, —1, —2) TF 579
fag ¥, 91 APQR 1 #%a (=7 Tl §)
T

Options:
\,-'llﬁ

1 4

, 2413
J65

= 2

:
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Jo1
2

4.

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

sd Q0, —1, —3) ¥d *dd 3x—y +4z=2 4l
(Gg P A ulalda ¢ld =4 R« (45
(3, =1, —2) ¢id, dl APQR « &340

(2, =154 i) B,
Options:
Jo1

1. 4

M.
@
o

.

[

|»}|%|
e

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If the length of the perpendicular from the

point (B, 0, B) (B=0)to the line,

- O n z+1 f?th . A1
1 0 " 15‘1‘,}, en (3 is equa

Options:

-2
1. =

-1

[-3

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl gco”e edunias
No Option Orientation : Vertical bl i



Correct Marks: 4 WrongMarks: 1

gfe fag (B, 0, B) (Bz0) ¥ =

1 0 1
B
\/g%,?ﬁ[:’.iﬂﬁi%:
Options:
1. -2
o 1
z 1
4 2

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o (35 (8,0, B) (B=0) =l 2u

] 1
dlp =_

X 1 z+1 e o BB
%=y—= ‘-E.erl":l‘-l-ﬁ":tb{lﬁ\/;élﬁ,

Options:

-2
1. =

-1

b2

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Assume that each born child is equally

likely to be a boy or a girl. If two families
have two children each, then the
conditional probability thatall childrenare

girls given that at least two are girls is :
Options:

:
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;. 10
1
5 11
X
= 12
1
4 17

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

O Yo 99 o9 9Tl 9= & T2 SAYgEr
TS B TEHHNE 7 | A S 9REn | il
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[f for some x € R, the frequency distribution

of the marks obtained by 20 students in a

lest is :
Marks 2 3 5
FTEI:.]LIE‘TIC}-’ {I' 4 1 }2 v — 5 xz_ 31.

then the mean of the marks is :

Options:

, 25

5 3.2
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sd 519 xe R W2, 20 Baei gm 518 2is
ylanl Haad e 2ugl Bazel

el |2 3 | 5 |7

| (x+1)2 22— 5| x2—3x| X
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Options:
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Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
All the pairs (x, y) that satisfy the inequality

1

]
z‘u"sinz:l: 2sinx+b . < 1

45in:y also

satisfy the equation :

Options:
] sinx=2siny

4 2sinx=siny

3 sinxy = |5i:ny|
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g8 [t g™ (x, y) W FEEET

1
— i ] :
4sin:y a?l 51.13
+ & = 9 fFm g =1 o 59
FC?
Options:

gﬂ.."sinzx 2smmx+5> .

sinx=2siny

2sinx=siny

2.
% sinxy = |5'Ln];|
o 2|smx| = 3siny
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MM Al (x, ) 5 o 28l
| 1

zwa'lsin::r: 2sinx+5 . i |

45in2y j

HienA s3ll €, o _ wpllse wel
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Options:
, Sinx =2siny

2sinx=siny

2.
5 sinxy = |5'Ln];|
o 2|smx| = 3siny
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ABC is a triangular park with
AB=AC =100 metres. A vertical tower is
situated at the mid-point of BC. If the

angles of elevation of the top of the tower

at A and B are CDt_I[H\E]and

cosec” ! [ 2.2 ] respectively, then the height

of the tower (in metres) is :
Options:
100

. 33

2 5

5 20

1045

4.
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ABC =i [Asielld Wws © <4l AB=AC=
100 {2z BC A weulog=i »i5 [iRldet el
DA 89, sd 2L 2ldadl 21l A wid B 2U010L
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cosec ' (242 i, il 2uuzier Al Glaug (ale2
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Options:
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Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which one of the following Boolean

expressions is a tautology ?
Options:
, \pvglafnpy g

5 AP {parg)

s (Pvalalpy~q)

i \BYq)vipy~q)
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. (pvq)a(~pv~q)
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